

Alois Švec

On orthogonal conjugate nets in E^4

Commentationes Mathematicae Universitatis Carolinae, Vol. 16 (1975), No. 1, 183--187

Persistent URL: <http://dml.cz/dmlcz/105616>

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1975

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

ON ORTHOGONAL CONJUGATE NETS IN E^4

Alois ŠVEC, Praha

Abstract: We prove that orthogonal conjugate nets satisfying globally certain conditions are situated on a sphere.

Key words: Surface, conjugate net, sphere.

AMS: 53C45

Ref. Ž.: 3.931.132

Let $M \subset E^4$ be a surface, let ∂M be its boundary; everything be of class C^∞ . On M , be given two unit tangent vector fields v_1, v_2 such that $v_1(m)$ is orthogonal to $v_2(m)$ for each $m \in M$. We say that v_1, v_2 generate an orthogonal conjugate net on M if $v_1, v_2 \in T(M)$, $T(M)$ being the tangent bundle of M . This being the case, introduce the normal vector fields

$$(1) \quad w_1 = (v_1 \wedge v_1)^N, \quad w_2 = (v_2 \wedge v_2)^N,$$

$(v_i \wedge v_i)^N$ being the normal part of $v_i \wedge v_i$. We are going to prove the following

Theorem. Let $M \subset E^4$ be a surface, and let $v_1, v_2 \in T(M)$ generate an orthogonal conjugate net. Suppose:

(i) $K > 0$ on M , K being the Gauss curvature; (ii) on M ,

$$(2) \quad \langle v_1(w_1 - w_2), v_1 w_2 \rangle + \langle v_2 w_1, v_2(w_2 - w_1) \rangle \leq 0 ;$$

(iii) on ∂M , we have $w_1 = w_2$. Then M is a part of a sphere.

Proof. To each point $m \in M$ associate an orthonormal frame $(m; v_1, v_2, v_3, v_4)$. Then

$$(3) \quad dm = \omega^1 v_1 + \omega^2 v_2, \quad dv_i = \omega_i^j v_j ;$$

$$\omega_i^i + \omega_j^j = 0, \quad d\omega^i = \omega^i \wedge \omega_j^j, \quad d\omega_i^j = \omega_i^k \wedge \omega_k^j ;$$

$$(4) \quad \omega^3 = \omega^4 = 0 .$$

From (4), $\omega^1 \wedge \omega_1^3 + \omega^2 \wedge \omega_2^3 = 0$, $\omega^1 \wedge \omega_1^4 + \omega^2 \wedge \omega_2^4 = 0$, and we get the existence of functions a_1, \dots, b_3 such that

$$(5) \quad \omega_1^3 = a_1 \omega^1 + a_2 \omega^2, \quad \omega_1^4 = b_1 \omega^1 + b_2 \omega^2,$$

$$\omega_2^3 = a_2 \omega^1 + a_3 \omega^2, \quad \omega_2^4 = b_2 \omega^1 + b_3 \omega^2 .$$

Thus

$$(6) \quad v_1 v_1 = (.)v_2 + a_1 v_3 + b_1 v_4, \quad v_1 v_2 = (.)v_1 + a_2 v_3 + b_2 v_4,$$

$$v_2 v_1 = (.)v_2 + a_2 v_3 + b_2 v_4, \quad v_2 v_2 = (.)v_1 + a_3 v_3 + b_3 v_4 .$$

The vector fields v_1, v_2 generating an orthogonal conjugate net, we have

$$(7) \quad a_2 = b_2 = 0$$

and

$$(8) \quad w_1 = a_1 v_3 + b_1 v_4, \quad w_2 = a_3 v_3 + b_3 v_4 .$$

The moving frames may be chosen in such a way that $w_1 - w_2$

and $v_3 + v_4$ are linearly dependent, i.e.,

$$(9) \quad a_1 - a_3 = b_1 - b_3 .$$

From (5), (7) and (9), we get

$$(10) \quad \begin{aligned} (da_1 - b_1 \omega_3^4) \wedge \omega^1 + (a_1 - a_3) \omega_1^2 \wedge \omega^2 &= 0 , \\ (a_1 - a_3) \omega_1^2 \wedge \omega^1 + (da_3 - b_3 \omega_3^4) \wedge \omega^2 &= 0 , \\ (db_1 + a_1 \omega_3^4) \wedge \omega^1 + (a_1 - a_3) \omega_1^2 \wedge \omega^2 &= 0 , \\ (a_1 - a_3) \omega_1^2 \wedge \omega^1 + (db_3 + a_3 \omega_3^4) \wedge \omega^2 &= 0 \end{aligned}$$

and the existence of functions α_1, \dots, β_4 such that

$$(11) \quad \begin{aligned} da_1 - b_1 \omega_3^4 &= \alpha_1 \omega^1 + \alpha_2 \omega^2 , \\ db_1 + a_1 \omega_3^4 &= \beta_1 \omega^1 + \alpha_2 \omega^2 , \\ da_3 - b_3 \omega_3^4 &= \alpha_3 \omega^1 + \alpha_4 \omega^2 , \\ db_3 + a_3 \omega_3^4 &= \alpha_3 \omega^1 + \beta_4 \omega^2 , \\ (a_1 - a_3) \omega_1^2 &= \alpha_2 \omega^1 + \alpha_3 \omega^2 \end{aligned}$$

and

$$(12) \quad 2(a_1 - a_3) \omega_3^4 = (\beta_1 - \alpha_1) \omega^1 + (\alpha_4 - \beta_4) \omega^2 .$$

Consider the invariant 1-form

$$(13) \quad \tau = (a_1 - a_3)^2 \omega_1^2 = (a_1 - a_3) (\alpha_2 \omega^1 + \alpha_3 \omega^2) ;$$

we get

$$(14) \quad \begin{aligned} d\tau &= \{ (\alpha_1 + \beta_1) \alpha_3 + (\alpha_4 + \beta_4) \alpha_2 - 2\alpha_2^2 - 2\alpha_3^2 - \\ &\quad - (a_1 - a_3)^2 K \} \omega^1 \wedge \omega^2 \end{aligned}$$

because of

$$(15) \quad d\omega_1^2 = -K \omega^1 \wedge \omega^2, \text{ i.e., } K = a_1 a_3 + b_1 b_3.$$

The second order invariants of the considered orthogonal conjugate net being

$$(16) \quad J_1 = \langle w_1, w_1 \rangle = a_1^2 + b_1^2, \quad J_2 = \langle w_2, w_2 \rangle = a_3^2 + b_3^2, \\ K = \langle w_1, w_2 \rangle;$$

we get

$$(17) \quad v_1 w_1 = -J_1 v_1 + \alpha_1 v_3 + \beta_1 v_4, \\ v_1 w_2 = -K v_1 + \alpha_3 (v_3 + v_4), \\ v_2 w_1 = -K v_2 + \alpha_2 (v_3 + v_4), \\ v_2 w_3 = -J_2 v_2 + \alpha_4 v_3 + \beta_4 v_4$$

from (3) and (11). Thus

$$(18) \quad \langle v_1(w_1 - w_2), v_1 w_2 \rangle + \langle v_2 w_1, v_2(w_2 - w_1) \rangle = \\ = (\alpha_1 + \beta_1) \alpha_3 + (\alpha_4 + \beta_4) \alpha_2 - 2\alpha_2^2 - 2\alpha_3^2 + \\ + (J_1 + J_2 - 2K)K.$$

From (13), (14), (18) and $J_1 + J_2 - 2K = 2(a_1 - a_3)^2$, we get the integral formula

$$(19) \quad \int_{\partial M} (a_1 - a_3)(\alpha_2 \omega^1 + \alpha_3 \omega^2) = \\ = \int_M \{ \langle v_1(w_1 - w_2), v_1 w_2 \rangle + \langle v_2 w_1, v_2(w_2 - w_1) \rangle - \\ - 3(a_1 - a_3)^2 K \} \omega^1 \wedge \omega^2.$$

Because of (iii), we have $a_1 = a_3$ on ∂M ; $K > 0$ and (2) imply

$$(20) \quad a_1 = a_3$$

on M , and (11) reduce to

$$(21) \quad da_1 - b_1 \omega_3^4 = 0, \quad db_1 + a_1 \omega_3^4 = 0.$$

We see that $J_1 = J_2 = K = a_1^2 + b_1^2 = \text{const.}$, and we are able to choose the moving frames in such a way that $w_1 = w_2 = a_1 v_3$, i.e., $b_1 = 0$. Then $\omega_3^4 = 0$ from (21), and

$$(22) \quad \begin{aligned} dm &= \omega^1 v_1 + \omega^2 v_2, & dv_1 &= \omega_1^2 v_2 + a_1 \omega^1 v_3, \\ dv_2 &= -\omega_1^2 v_1 + a_1 \omega^2 v_3, \\ dv_3 &= -a_1 \omega^1 v_1 - a_1 \omega^2 v_2, & dv_4 &= 0. \end{aligned}$$

Because of

$$(23) \quad d\left(m + \frac{1}{a_1} v_3\right) = 0,$$

M is a part of the sphere $\left(m + \frac{1}{a_1} v_3, \frac{1}{|a_1|}\right)$ situated in the hyperplane spanned by v_1, v_2, v_3 .

For the details on the local differential geometry of surfaces in E^4 see my paper On the existence of parallel normal vector fields of surfaces in E^4 (to be published in Czech.Math.Journal).

Matematicko-fyzikální fakulta
Karlova universita
Sokolovská 83, 18600 Praha 8
Československo

(Oblatum 6.1.1975)